CLASS: IX
Date: 21 — 04 - 2020
ASSIGNMENT

SUBJECT: I.T.

MCQ:
1. What does an upright (straight) body posture convey/ show?

(a) Shyness
(b) Fear

(c) Confidence
(d) Intelligence

2. Which of these is not an appropriate non-verbal communication at work?

(a) Putting arm around a coworker’s shoulder
(b) Shaking hands firmly

(c) Looking at the speaker with a smile

(d) Standing with an upright posture

3. What is a sentence?

(a) A group of ideas that form a complete paragraph

(b) A group of words that communicate a complete thought

(c) A set of rules that we must follow to write correctly

(d) A set of words that contains all the basic punctuation marks

4. Which of these sentences use uppercase letters correctly?

(a) I am Hungry.

(b) Divya and sunil are reading.
(c) The bucket is Full of water.
(d) She lives in Delhi.

5. Which of these sentences are punctuated correctly?

(a) Where are you going.

(b) I have a pen a notebook and a pencil.
(c) I am so happy to see you!

(d) This is Abdul’'s house.



SUBJECT: ENGLISH

1.1 in Delhi since 2004.

a. live

b. lived

c. have lived
d. had lived

2. | think he pass.

a. shall
b. will
c. has
d. have

3. Four weeks a long holiday.

a.is

b. are
c.am
d. were

4. A poet and patriot passed away.

a. has
b. have
c.is

d. are

5. The hen has eggs.

a. lay
b. laid
c. lain
d. lie



SUBJECT: MATHMATICS

1. 445 + 5V5 is equal to:
a) 9V5
b) 910
c) 5V10
d) 775
2. Which of the following is irrational?
a) 0.4014001400014...
b) 0.14

c) 0. 1416
d) 0.1416

3. V12 X V15 is equal to:
a) 5V6
b) 6v5
c) 10\5
d) V25

4. Which of the following is equal to x??

zs
a)x7 -x7

b) 13/ Grh)r
c) (\/F ) 213

d) x4 X x4
5. The value of V(16)2 is:

a) V4
b) 12
c)4

d) 1/16



SUBJECT: PHYSICS

1. Suppose a boy is enjoying a ride on a marry-go-round which is moving with a
constant speed of 10 m/s. It implies that the boy is:
(a) At rest
(b) Moving with no acceleration
(c) In accelerated motion
(d) Moving with uniform velocity

2. A particle is moving in a circular path of radius r.

S
The displacement after half a circle would be:
(a) Zero
(b) Tr

(c) 2r
(d) 21mr

3. A car of mass 1000 kg is moving with a velocity of 10 m/s. If the velocity-time
graph for this car is a horizontal line parallel to the time axis, then the velocity
of the car at the end of 25 s will be:

(a) 40m/s

(b)25 m/s
(c) 10 m/s
(d) 250 m/s

4. In which of the following cases of motions, the distance moved and the magnitude
of the displacement are equal?
i. If the car is moving on a straight road
ii. If the car is moving in circular path
iii. The pendulum is moving to and fro
iv. The earth is moving around the sun

(a) only(ii)
(b) (i) and (iii)
(c) (i) and (iv)
(d) only (i)

5. The numerical ratio of displacement to distance for a moving object is:
(a) Always less than 1
(b) Equal to 1 or less than 1
(c) Always more than 1
(d) Equal to 1 or more than one



SUBJECT: CHEMISTRY

1. The forces of attraction between the particles is maximum in:
(a) Iron rod
(b) Kerosene oil
(c) Dry air
(d) Glycerine

2. Which one of the following gases undergoes diffusion most readily:
(@) LPG
(b) Carbon dioxide
(c) Hydrogen
(d) Nitrogen

3. What are the two reasons that can explain, water as a liquid:
(a) Liquid do not have a definite shape neither definite volume
(b) Liquid do not have a definite shape but have a definite volume
(c) Liquid have a definite shape and a definite volume
(d) Both(a)&(b)

4. Name the physical state of matter which can be easily compressed:
(a) Gases
(b) Solids
(c) Liquids
(d) Plasma

5. What is the Sl unit of pressure?
(a) Pascal
(b) Kelvin
(c) Newton
(d) Metre



SUBJECT: BIOLOGY

1. Mustard is an example of

(a)Kharif crop
(b)Rabi crop
(c)Zaid crop
(d)Both (a) and (b)

2. Hemp, Guar etc. plants are grown for

(a)Vermicomposting
(b)Green Manure
(c)Compost
(d)Fertilizer

3. Xanthium is a

(a)Insect
(b)Weed
(c)Weedicide
(d)Pathogen

4. Concentrates of cattle feed mainly contain

(a)Protein.
(b)Carbohydrate

(c)Fibre

(d)Vitamins and Minerals

5. Birds which are grown for obtaining meat are called

(a) Layers
(b)Broilers
(c)Breed

(d)Both (a) and (b)



SUBJECT: HISTORY

1) Political body of France

a) Duma

b) Reichstaj

c) Lok Sabha

d) Estate General

2) A broken chain symbolised

a) Chains used to fetter slaves
b) Strength lies in unity

c) Royal power

d) Act of becoming free

3) The national colours of France

a) Blue-Green-Yellow
b) Red-Green-Blue
c) Blue-White-Red
d) Yellow-Red-White

4) National anthem of France

a) Vande mataram
b) Roget de L Isle
c¢) Le universal
d) Marseillaise

5) What was Taille known as?

a) Indirect tax
b) Direct tax

c) Tarrif

d) Custom duty.



SUBJECT- GEOGRAPHY

1. Which one is the last point of India?

a. Jawahar point
b. Indira point
c. Sarojini point.
d. Rajiv point

2. Which one of the following is time zone for India?

a. 82°30'E
b. 72° 30'E
c.92°30’ E
d. 62° 30’E

3. Which imaginary line passes through mid of India?

a.Tropic of Capricorn
b. Arctic Circle

c. AntarcticCircle

d. Tropic of Cancer

4. Which island is situated in the south-east of India?

a. Andman & Nicobar
b.Lakshadweep

c. Greenland

d. New Moore.

5. What is the position of India in the world with respect to size?

a.lst
b. 3
c. 7th
d. gh



Assignment - 2
Date - 21/04/2020
Class 9
Subject - Hindi

MCQ (a¥gs )

6. forg TE & YT Teh Y IR AKIT Shar TS T 82
a) graq

b) et

C) 31NTg

d) d=mg

7. T[0T &Y URTRIST I T 37 82
a) 7T &I fasneTeRrd U

b) Ut} ST AR

C) T[0T} <A AT g1

d) 7T &Y == AT

8. FA AT Iell ot hgi AT fean?
a) T &R

b) A TR

c) I

d) g & =W

9. R 3 It t @ AT fear?



10. R1- Al 3mug # RnfAena @ Iasrd 82
a) ST ch hIROT

b) ARA & IROT

c) d\ g1

d) TS & AR
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